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- 1. The frog jumps in twos.
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- Write down all the stopping places.

()65 o)) [w][1e][¥][20]

Where was the frog after each of these?

5 jumps | |() | 3 jumps é)

7 jumps

2 jumps Lf ~

g jumps [g‘ 8 jumps | |

b

M
6 jumps | |7 | | 4 jumps T \

12T 3 5 7%!1/@@
13213 14|15 |55 |17 %I‘I&
21 ;;;23/%25%27%2(1 59

Count in twos on this part of
the 100 square. Colour all the

stopping places. How many .
stopping places are there? &

There are

_lg

straws altogether.

5. Put 2 sweets in each bag. Count in twos.



Counting in lh rees

¥ T )
....... W e
Sy Y 5" ;l;a----r-3 o 25 56 27 28 29 30 B

01’345678‘4101]1213141

“

1. The frog jumps in threes.
Write down all the stopping places.

T

2. Where was the frog after each of these?
2jome | b |

4 jumps Eﬂ 3 jumps 5 jumps LS 1 L— |
8 jurr‘1ps @ 6 jumps @ 7 jumps L| JO U @

e s R 2 L

S ——

3. [ |28 |5 %7 |8 /4/[10| Count in threes on this part of X

Hn71ER ;ﬁ} 16 |17 {r/g 19]20] the 100 square.
7| 22|23 44| 25 | 26 77|28 |20 | Colour all the stopping places.

How many stopping places are there? ‘ 10 &
'” How many stopping places in the

first row‘? second row? third row? E

Cdom each group of 3 beads. Count in threes.
CommmRE T o () O




Counting in fours

i. The frog jumps in fours.

3]umps \1 51umps 20

"‘I

| E
2 jumps \_‘?5 l 7 jumps | 2% l

T
4 JumpS | \b 6 jumps j ] 8 jumps \3—:)__| q jumps t&é}

i

S l

3 |@)s . 4 110 Count in fours on this part of

s
1 13 |14 |15 @17 18 1q. the 100 square.
21|22 |23 @25 26 27. 29 30 Colour all the stopping places.

31 @33 34 35 (36) 37 |38 | 3q

How many stopping places are there? | |© |

How many stopplng places in the
first row?‘ Q gsecond row‘?% \ third row"Q \fourth row’

o

. Put 4 lollipop sticks in each cup. Count in fours.

%?@???????

There are LO‘ lollipop sticks altogether.

-

How many lollipop sticks are there in

3 cups? '“’lll 6 cups? Eﬂﬁ] 8 cups? 10 cups? |+0

ki
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Counting in tw0S, 1!
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D How many eggs are there in =

216 |
() 3 nests?| b LJ (b) 6 nests? J? (c) 8 nests :b
‘?
(d) 5 nests? r\a (e) 7 nests? Ej,il (f) 9 nests: 1gl

gy _/___T’-’-‘—
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3. How many legs have i . :
ﬁ (a) & ducks? [ﬂ (b) 7 ducks?| |y | (©) 3 ducks? | [O |
= o e |
(d) 10 ducks? | 7p (e) 9 ducks? | |¥ ! f) 6 ducks? 0 j_ l
4. Fill in the missing numbers. _T
= 1] Wifia, |
e } l [D ] ‘ I_?)_O o

5. How many spots huve

(a) 2 ladybirds? % (b) 5 lodgblrds'? ‘101 (©)10 ladybirds? EQ‘

(d) 9 ladybirds? | 3@ (e) 6 ladybirds? 1L] (f) 8 ladybirds? D }

6. How many wheels have
(@) 3 tricycles? i : B
. | ycles! ﬂ (b) 5 tricycles? E (©) 6 tricycles? i_ri

A (d) 10 tricycles? | 1y | (e) Qtricgcles_?} 52

ﬁl[ in the mlssmg numbers

() 7 tricycles? rir

——

| (€) 10 cows? [@
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Counting in fives
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. The frog jumps in fives.
Wnte down all the stopping places.

5 100 ][ J{20 ][22 )[30] 35 |[ol[us |[50]
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2. Where was the frog after each of these"

0
3 Jumps ) | 6 jumps 5] g E‘Jf
]éo ‘ _ jumps !L_Z'S | ;i!'
2 jum s, | Briin : foe | 21
jump LOJ 4 jumps ZO__‘ 7 jumps | 35 | < ¢
— =14
3. @] [7[s [ ]@ Z{“‘
12113 |14 |@ |16 |17 |18 |19169|  Count in fives on this part of %
2112223 |24 @ 26'(27 |28 [29 |6B| the 100 square. ;; %
31 {32133 |34 |63 | 36 |37 |38 |39 Colour all the stopping places. = §
41 |42 143 z;l@ 46 |47 |48 149 @ E

How many stopping places are there? \O \

Do you notice any pattern?_ g, Une,. e Ol
|

4. Put 5 berries on each stem. Count in fives.

FHERA

There are ‘ berries oltogether
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5. How many fingers have

, (@) 3 hands? ng (b) 6 honds‘? (©) 8hcmds?B_—5

(d) 10 hands? @ (e) 9hands?| g | () 7h0nd5? 35
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